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PART A: Structure
Directions: Choose the word or phrase (1), (2), (3), or (4) that best completes the blank, Then
mark the correct choice on your answer sheet.

1-  The cercbral cortex has two hemispheres (right and left), ----—----------- {occipital, parietal,
temporal, and frontal).
1) that cach of them has four lobes 2) in which four lobes are cach
3) each of which has four lobs 4) with four lobes and each has

2-  Many elementary children have difficulty with regrouping in subtraction ---------------

from the larger number in each column.
I') by subtracting the smaller incorrectly ~ 2) thereby incorrectly subtracting smaller
3) of the smaller to subtract incorrectly  4) and incorrectly subtract the smaller
3- Althuugh researchers have explored brain processes with different types of content
invelving various mental abilities, -----------——-—-
1) a wealth of research has been conducted on ]anguage acquisition and use
2) language acquisition and use it has been in a wealth of research conducted
3) a wealth of research are to be conducted on acquiring and using language
4) a wealth of research is being conducted on language acquisition and used
4-  Carroll (1963, 1965) formulated a model of school learning that places primary

emphasis on the instructional variable --——--—----——-- ;
1) to spend time to learn 2) how to lecarn in the spent time
3) ol time spent learning 4) is the time [or the time spent
3  -—-----————-- blanket statcments about students’ inherent smartness may actually function

as disincentives,

1) To be student-centered and conversant with rescarch on motivation is to rcalize that

2) Realizing that student-centered and conversant with rescarch on motivation is that

3) Student-centered and conversant with rescarch on motivation is the realization ol

4) For being student-centered and conversant with rescarch on motivation, we realize
6- One way to begin to examine the worth of reflective teaching in more depth is to focus

attention on --———---—-m-- teachers are reflecting about.

1) when is that 2) what it is 3) that which is it~ 4)it is what that
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PART B: Written Expression

Directions: Choose the word or phrase (1), (2), (3), or (4) that must be changed for the
sentence o be correct. Then mark the correct choice on your answer shect.

7-  While specific employers seek individuals with specific skills for specific jobs, all
1
employers want that with the ability to express themselves clearly, to solve novel
2
problems, and to present their solutions in a clear and accessible form.
3 4
8-  Direct assessments involve open-ended tasks in which the respondent can freely perform
1 2
the complex skill at issue, are unfettered by structured item forms or restrictive
3 4

response formats.
9- A poud, critical review should show that not only have you read extensively the existing
1 2
work in the field but you have also understood the methodology and arguments, by
3

puinting out the strengths and weaknesses, by comparing the results of different studies,

and evaluating them with reference to your own interests.
4
10- To have depended on the situation, this private speech (as modern psychologists call
1
the behavior) can account for 20 to 60 percent of the remarks a child younger than 10
2 3

vears makes.
4
11- William IT Johnson's artistic debt to Scandinavia is evident in_paintings that range
1 2
from sensitive portraits of citizens in his wife's Danish home Kerteminde and awe-
3

inspiring views of fjords and mountain peaks in the western and northern regions

of Norway.
4
12- The period when the great painted caves at Lascaux and Altamira were occupied by
1
Upper Paleolithic people have been established by carbon-14 dating but what is much
2 3
more difficult to determine is the reason for their decoration, the use to which primitive
4
pcople put the caves, and the meaning of the magnificently depicted animals,
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PART C: Vocabulary
Directions: Choose the word or phrase (1), (2}, (3), or (4} that best completes the blank. Then
mark the correct choice on your answer sheet.

13-  Jess had studied so hard for her exams that the end of exam week found her in a state of

complete --—------—-——- , barely able to do more than reach toward her bedside table for
her mug of cocoa.
1) truculence 2) lassitude 3) idiosyncrasy 4) banality

14-  *Clarissa became guite --------------- after her husband died,” explained the doctor. “Iler
grief was so extreme that she could no longer take care of her basic needs and had to be
hospitalized.”
1) perilous 2) insular 3) irreversible 4) deranged

15- The novels of Henry Miller are too explicit to —------————-- ; by the time a conservative
editor finished removing offensive material there would be little left to read.
1) misconstrue 2) bowdlerize 3) fathom 4y evoke

16- After ruining his father’s tennis racquet by using it as a fly swatter, Josh --—-------——-----
himself by getting a job as a golf caddy and earning enough money to buy his father a
new and better racquet.

1) redeemed 2) treated 3) justified 4) remunerated

17- When Martin went to the administration of his school to protest the absence of a soft
drinks machine, the principal said gently, *Martin, I don’t think that going without a
cola for six hours ranks as one of the great ----------—-—-- of all time.”

1) invectives 2) facsimilies 3) tribulations 4) upshots

18- After five days, the mountain climber was discharged from the hospital. The experiecnee
had taught him a --—--—-----—-- lesson: he was a mortal, and naturc was much morc
powerful than him,

1) prophctic 2) poignant 3) pcdantic 4) predacious

19-  Karen was relieved to learn that the chemieals in her well water were all ———-——-———-,
1) congenial 2) benevolent 3) benign 4) incredulous

2{l-  Xiw’s timely joke served to --------—---—-- the tension in the room, and the rest of the
meeting was highly productive.

1) delace 2) devolve 3) distend 4) diflusc

21- Sandra is troly a/an -----—-————————; althongh she’s lived here for years and everyone
knows her, no one seems to know anvthing ahout who she is or where she came from.
1) cnigma 2) apostale 3) dechonair 4) prodigy

22-  After vears of experience, Florin hecame a -------------—- veterinarian who could treat and
opcerate on many different kinds of animals.

1) corporeal 2) compliant 3) copious 4) consummate

PART D: Cloze Passage

Directions: Read the following passage and decide which choice (1), (2), (3), or (4) best fits
each space. Then mark the correct choice on your answer sheet.

Latin is sometimes referred to as a dead language because it no longer has any native
speakers and exists only in written texts (23) ----—--—--—-—- from earlier periods. But
while Latin may have died, its (24) ----=-----—---- survives in its direct descendants. such
as Spanish. Italian, French, and Portuguesce. In this (25) —-——-————- . Latin is similar to
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other languages in the Indo-Curopean language lamily (26) -——memeeeem— (¢.g. Old
Iinglish, Sanskrit). In other contexts, however, some languages simply die, Ieaving no
direct (27) -=-----=--————, I'or instance, as a result of the colonization of the Americas.
numerous indigenous languages have died or are endangered. Of the fortv-tfour
languages in the Algic language family, thirteen have (28) -—----=----—- . The remaining
living languages have a (29) ---—--—--—-— 194,980 speakers. and a number of these
languages are “nearly extinct,” a sitnation (30} -—-----—-eemmm- “when the speaker
population is fewer than 50 or when the number of speakers is a very small fraction of
the ethnic group.” According to the latest figures in the Ethnologue, 316 of 6,912
languages in the world are nearly extinet.

23- 1) to survive 2) surviving 3) and survived 4) to have survived
24- 1) utility 2) precedent 3) erudition 4) legacy
25- 1) vein 2) respeet 3) domain 4) retrospeet
26- 1) no longer to be spoken 2) spoken for on longer
3) that are no longer spoken 4) to be spoken no longer
27- 1) scribes 2) zealots 3) champions 4) descendants
28- 1) thrived 2) perished 3) withstood 4) circumvented
29- 1) just 2) sole 3) mere 4) solitary
30- 1) arising 2) roiling 3) teeming 4) ebbing

PART E: Reading Comprehension

Directions: Read the following two passages and decide which cheice (1), (2), (3), or (4} best
answers each question. Then mark the correct choice on your answer sheef.

PASSAGE 1:

Your manager stops you and says she needs to have a word about your performance in
the recent project. You worry about it all weekend. wondering what yvou might have
done wrong. When you step into her office on Monday morning. she begins by
praising vou for the good work vou've done on the project, and you wonder if this is
the obligatory praise that starts off the typical “feedback sandwich”. You know how
the [eedback sandwich goes: say something nice. say whatl vou really want Lo say. say
something nice again.

In an attempt to inject some positivity into their feedback. many managers rely on
sundwiching ncgative [cedback belween two positive comments. However, when this
[ecedback becomes such a routine, employees can start to perceive positive [eedback as
simply a form ol sugarcoating the ncgalives, thus diminishing its valuc. Instead,
positive leedback should not simply be seen as something to cushion the negative, but
should be delivered so as to reinforce and encourage good performance. 1lere are three
tips to help you make positive feedback count. lirst. when positive and negative
feedback always appear to go hand in hand. the positives can become devalued and
ignored. Ensure there are times when positive feedback is given for its own sake and
resist the temptation to offer constructive criticism.
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Another point 1o bear in mind is what psyvchologist and “growth mindsct”
proponent Carol Dweek spoke of . She actually spoke of the plasticity of the brain and
our ability to develop skills and talents that we might not have been good at to start
with. Many of us tend to focus our praise on the end result and seemingly innate
talents, e.g. “You really have an eye for details” or “You have a real talent for
organizing events”. However, research suggests that by focusing on the process of how
things are done—praising effort, experimentation and problem-solving strategies—we
can encourage the development of new skills and the continued honing of talents.

And now the third tip; make giving positive feedback part of vour
tcam/departiment/company culture. Don’t just wait [or special moments like appraisals
to give [cedback. Oller informal positive [eedback when making small talk or when
walking down a corridor. FFeedback docsn™t have to only come [rom the higher ranks
cither, Tincourage peer leedback among team members and collcagues and actively ask
them lor positive comments on cach other's performances on tasks.,

[t might take time to counter the effects of an environment where there is a cynical
view of positive feedback, but in the long run. by embracing positive feedback, you
can not only enhance working performance but also enrich the guality of life in the
workplace.

Which of the following best describes the organization of the passage?

1) The author delineates the way to achieve a goal and then makes a prediction.

2) The author provides guidelines about how to expunge a misconception engrained in
many traditional managers’ minds.

3) The author compares and contrasts (wo approaches and shows thatl the advantages
ol on¢ outwceighs the advantages ol the other.

4) The author begins with a real story in an ollice and discusses the implications
thereol for the labor-management relationship,

According to the passage, the point made by Carol Dweck is that people --—----—-——-,

1) can be made to act against their will

2) are born with a set of innate capabilities

3) receiving felicitous feedback are likely to do things they might helieve they cannot

4) seem unable, psychologically speaking, to do things for which they are not cut out
in the first place

Which of the following statements about “feedback sandwich™ is supported by the passage?

1) It 1s often vsed even when managers intend to supply positive feedback.

2) It can be productive only when provided with the genuine intention of augmenting
emplovees’ self-esteem.

3) It is somehow interpreted by emplovees as a technique used by managers to soften
the harshness of censure.

4yt 15 commonly uscd on the wrong assumplion thalt positive leedback alone
diminishes cmployee cllicicney.

The first tip furnished in the passage could best be summarized as which of the following?

1) Try not to lollow positive leedback with negative (cedback.

2) Make feedback commensurate with the value of the act (o be praiscd.

3) Avoid making fake feedback in that it devalues the effect of teedback altogether.

4) Do not miss out on any opportunity to provide positive feedback.
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The author belicves that a praise type like “You really have an eye for details” (paragraph 2)

1) locuscs on “product”™ but not “process™

2) 1s overly restrictive and counterintuitive

3) has proved to not be taken seriously by the receiver

4y undermines emplovees” potential for team work and problem solving

The tone of the passage with regards to positive feedback could best be described as

1) objective but concerned 2) detached and unconcerned
3) skeptical and questioning 4) enthusiastic and supportive
PASSAGE 2:

Researchers use the word “consciousness™ in many different ways. To clarify the
issucs, we [irst have (o sceparate the problems that are often clustered together under
the name. For this purposc, I [ind it usclul to distinguish between the “casy problems”™
and the “hard problem™ ol consciousness. The casy problems arce by no means trivial—
they arc actually as challenging as most in psychology and biology—Dbut it is with the
hard problem that the central mysiery lics.

The easy problems of consciousness include the following: [low can a human
siibject discriminate sensory stimuli and react to them appropriately? [low does the
brain integrate information from many different sources and use this information to
control behavior? How is it that subjects can verbalize their internal states? Although
all these questions are associated with consciousness, they all concern the objective
mechanisms of the cognitive system. Consequently, we have every reason to expect
that continued work in cognitive psychology and neuroscience will answer them.

The hard problem. in contrast, 1s the question ol how physical processes in the brain
give rise Lo subjective expericnce. This puzzle involves the inner aspecet ol thought and
perception: the way things fcel for the subject. When we sce, lor example, we
cxpericnee visual sensations, such as that of vivid bluc, Or think of the inclTable sound
ol a distant oboc, the agony ol an intense pain, the sparkle ol happiness or the
meditative quality of a moment lost in thought. All are part of what [ call
consciousness. [t 1s these phenomena that pose the real mystery of the mind.

lo illustrate the distinction, consider a thought experiment devised by the
Australian philosopher Frank Jackson. Suppose that Mary, a neuroscientist in the 23rd
century, is the world’s leading expert on the brain processes responsible for color
vision. But Mary has lived her whole life in a black-and-white room and has never
seen any other colors. She knows everything there is to know about physical processes
in the brain—its biology, structure and function. This understanding enables her to
egrasp all there is to know about the easy problems: how the brain discriminates
stimull, integrates inlormation and producces verbal reports. From her knowledge ol
color vision. she knows how color names correspond with wavelengths on the light
spectrum. But there is still something crucial aboul color vision that Mary docs not
know: what il is like to expericnce a color such as red. Tt follows that there arc lacts
about conscious cxperience that cannol be deduced [rom physical lacts aboutl the
functioning of the brain.
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The main purpose of the classification presented in paragraph 1 is to —-——ceeeee - :

1) set the ground lor a clearer discussion of the topic

2) distinguish between dillerent levels ol consciousness

3) explain why “consciousness™ has still remained a puzzle in its totality

4) clarify issues in biology and psychology to help demarcate the boundaries of the
two in discussions about consciousness

It can be understood from the passage that most issues in psychology and biology --------.

1}y are similar in nature to the hard problem of consciousness

2) revolve around the concept of consciousness

3) are somehow easy to identify and describe

4 are by no means trivial

The author has referred to Vary in the last paragraph primarily in order to ——-----m-nm--,

1) show thatl consciousness would remain @ mystery lor many years 1o come

2) reinforee the claim that objective expericnee cannol [cad Lo subjeclive expericnce

3) shed light on the distinction between physical processes in the brain and subjective
¢xpetience

4) prove that physical processcs in the brain arc the most challenging part in the study
of consciousness

Which of the following hest describes the author’s attitude toward cognitive psychology’s

ability to unravel the secrets of the objective mechanisms of the cognitive system?

Iy [ndifference 2) Optimism
3) Resigned acceptance 4) Objective yet concerned
Linguistices:

The characteristic of langnages that they readily and regularly permit the expression of
new meanings is ealled -----—---—--- !

1) arbilrariness 2) displacement

3) creativity 4) grammaticalily

Which of the following statements is correct?

1)y All obstruents arc consonants, but sonorants include both vowcels and consonants,
2) All sonorants arc consonants, bul obstruents include both vowels and consonants,

3) Nasal stops, approximants and vowels are all obstruents.

4) Stops, fricatives, and aftricates are all sonorants.

What are the voiced sounds |w| and |j| called?

1) I'laps 2) Liquids 3) Glides 4) Alveolars

Which of the following shows characteristics of lexical morphemes?

') Concreteness. infrequency, and function change

2) l'unction change, nonproductivity, and suffixability

3) Concreteness. infrequency, and open-set membership

4) Nonproductivity, suffixability, and open-set membership

The words “enthuse” and “perm”™ are respectively formed through the processes of

1) conversion and coinage 2) clipping and conversion
3) backformation and clipping 4y backformation and conversion
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All of the following sentences contain structural ambiguity EXCEPT -—ccceeaeeee

1) The students complained to the teacher that they didn’t understand.

2) The parents of the bride and groom are waiting outside.

3) Peter saw the pirate with the telescope.

4) [ met a French history professor.

All of the following are used as evidence against child language learning by hypothesis

testing EXCEPT ---------—-- "

1) the fact that comprehension must precede naturalistic production

2) children are not trained and experienced linguists figuring out unwritten forms

3) children who say forms like goed and mawns persist in using them despite being
corrected

4) the evidence available to children is very inadequate to take a chance on producing
wrong lorms like goed and marns

What kind of phenomenon is being involved when a person makes a sentence like “You

have hissed all my mystery lectures™?

1) Malapropism 2) Spoonerism

3) Slip of the car 4) Slip of the brain

AN} e is a linc on a map scparating two arcas in which a particular linguistic
feature is significantly different.

1) creole 2) isogloss 3) idiolect 4) diglossia

Which of the following describes the relationship between the words “vegetable” and
“celery”?
1) Polysemy 2) Metonymy 3) [lomonymy 4) Hyponymy
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int func(int n, int m)
I
1

if n==o

return 1

return m *fune(n -1, m}
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c=a"(log(v), log(b)) ¢ ¢ =(a" log(b)), log(r) ¢
¢ =a" log(v), log(b) % ¢ =a" (log(b), log(*)) ¢
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while i <7 Y
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print(" Hello"}
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while (X > 0) (33,9 Sae ol (¥
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Out = Out +r * 10" i $2gy9 24 pl| g Sl

i=i+l;
X=X//10;
print(Out}
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for(i=Li<N-1Lii++)
Ali—1,i]= Afi,i—1];
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if m mod k == 0 then

f =True

break
if f==False then

print(m)
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function test(A[0..N — 1], value,low, high) : s il gl g} Toamu ~IVY
if (high < low) O{n) O
return —1 O(llv) (¥
mid = (low + high) / 2 Ofnlogn) v
if (A[mid] > value) O(logn) (f

return test( A, value, low, mid - 1)
else if (A[mid] < value)
return test(A, value, mid + 1, high)

clse
return mid
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def f(j):
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j=j*2
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